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CBT Sample assessment model answers

Personal Tax (PTAX) FA2013
Sample assessment 1

Task 1
[image: image2.png]Complete the following table to show George's taxable benefitin kind for the cars for 2013/14.
‘Show monetary answers in whole pounds.

‘Scale charge
percentage
Taxable benefiton
provision ofthe car
Taxable benefiton
provision offuel

Yomo ‘Scale charge
percentage
Taxable benefiton
provision ofthe car
Taxable benefiton
provision offuel

Total taxable benefit





Task 2
[image: image3.png](a) Indicate whether each of the following will or will not resuit in an assessable benefit in kind for the
‘employee by dragging the correct item into the answer column of the table.

Free parking spaces outside the place of work.

Will NOT be
treated as an
assessable
benefitin kind

Dragitems.

Provision of a £7,000 interest free loan

Wil be treated
asan
assessable
benefitin kind

Contribution of £150 per year towards employee’s household costs
s the employee works ffom home one day per week.

Will NOT be
treated as an
assessable
benefitin kind

Wil be treated
asan
assessable
benefitin kind

Will NOT be
treated as an
assessable
benefitin kind

Free meals provided to al direcors and senior managers.

Wil be treated
asan
assessable
benefitin kind





Task 2 (continued)

[image: image4.png](b) Complete the sentences below using this information.

“The cost of accommodation that will be used inthe benefitin kind computation will be £

‘The taxable benefitin kind arising from the accommadation will be £ 11000]

‘The taxable benefitin kind arising from the provision of the furniture will be £

‘The taxable benefitin kind arising from the loan wil be £ 405





Task 3
[image: image5.png](a) Calculate the profit or loss made on the property by inputting the correct figures in the boxes. Do not
‘use brackets or minus signs and if you feel any items are not aliowable please insert a zero “0”.

Propertyincome 5180
Property expenses -
Redecoration 1000
Insurance 1900
Waterrates 500
Council tax 2150
Wear and tear 43
PROFIT 187

Charlene's only income is erived from the letting of property. She has profits and losses for the lastfew
years as shownin the table below.

(b) Show how the loss made in 2012113 would be relieved by selecting the appropriate figure from each
of the drop-down lists. If you consider there o be no loss relieved in that year select the zero figure.
from the drop-down list.

Property incomel(ioss)

Loss relieved






Task 4
[image: image6.png]Angela receives interest from an ISA, interest from a Building Society account and dividends from shares.
Her otherincome, after personal allowances, totalled £29,950 for 2013/14. She has no other sources of income.

Calculate the tax deducted at source and any additional tax payable for each type of income shown in the.
table below. If your answer is zero, please input 0. Your answer should be in pounds and pence.

Interestfrom ISA 412 0 0

Interest from Building
st 856 214 0

Dvidends 1314 146 10575





Task 5
[image: image7.png]Complete the following table showing the figure that may be included in Kayla's taxable income for
2013/44. You should use whole pounds only. Ifyour answer is zero, please input a "0". Do not use
brackets or minus signs.

Salary 106329
Employee’s pension contribution 6380
Employer's pension contribution 0
Benefitin kind for cars 3350
Beneftin kind for fuel 4190
Interest from Building Society 1350
Interestfrom ISA 0
Professional subscription 200
Personal allowance 5186
Taxable income 103383





Task 6
[image: image8.png]‘Yubin, who is 36, has the following income for 2013/14:

Total employmentincome 40,300
Interest received from Building Societies 1,480|
Dividends received 774





[image: image9.png](a) Calculate his total income tax liability for 2013/14, entering your answer and workings into the blank
table below. You have been given more space than you will need.

Workings 2|

[Employmentincome 40,300
[Building society interest £1480x 10080 1,850)
IDividends £774x 10090 860)
43,010

IPersonal allowance 9,440)
33570

130,850 x 20% (40,300 9,440) 6.172|
11,150 x 20% (32,010-30,860) 230)
[700x 40% (1,850-1,150) 280)
les0x32.5% 280)
[Total income tax iabilty 6.962|





Task 6, continued
[image: image10.png]Yubin s considering contributing into a private pension scheme, paying 5% of his employment income each
year. However, he does not understand the taxation implications of doing ths.

(b) Explain to Yubin how he will get tax refief on such contributions, and tax implications if he had paid
into this scheme during 201314,

[ Yubin contributes 6% of his employmentincome into a personal pension scheme, this will fotal £2,015.
This amount wil be grossed up for the basic rate, giving a total of £2.519. This amount s then usedto extend
the basic rate of income tax, o that he would not pay the higher rate until his taxable income was £34,529
(32,010 +2,519). This would therefore mean that al his income for 2013/14 woulg be taxable in the basic
rate.





Task 7
[image: image11.png]Todayis 14th April 2014.

Anew client has writen to you explaining his situation. He has been self-employed for many years, but the
Iasttax retum he filed with HURC was for the tax year 2011112, which he filed on 1 October 2013 He has not
filed any further returns

He is now very worried about penalties that he may be charged.

In the box below you need to respond to the client's query by explaining what penalties he may incur due.
to late filing of his tax returns.

[The 2011112 tax retur should have been filed by 31 January 2013. The client fled it & months late and so he
willincur a penalty. This penalty may consist of: an immediate £100 fine; 3 daily penalty of £10 per dayto a
[maximum of £900; penaly of £300 or 5% of the tax iabilty or the year

The 2012113 was also due to be filed by 31 January 2014, 5o by 14th April this is 2% months late. An
[immediate fine of £100 will be due, but provided he files it before 30th April 2014, he should avoid further
penalties





Task 8
Box 20: 19,600

Box 24:
4,280

Box 25: 3,800

Box 27: 1,568

Box 36:
833

Box 38: 9,119

Box 39: 4,300

Box 40: 4,819

Task 9
[image: image12.png]() Show whether the following statements are true o false.

‘The destruction of a capital asset through fire would
not be treated as a chargeable disposal for capital
gains tax.

Disposals on the death of a taxpayer would be
treated as exempt disposals for capital gains tax

“The sale of aracehorse would be treated as an
exempt asset for the purposes of capital gains tax.

Wasting chattels are tangible movable items with an
estimated lfe of less than fift years.

Joyce bought an asset n April 2002 for £105,000, selling itin November 2013 for £148,600. Joyce paid
‘auctioneers commission of 7.5% when she bought the asset and auctioneer's fees of 10% on the sale
value of the asset

(b) Select the gain arising from the disposal of this asset from the list below.

£43,600

£35725

£28740

£20,865





Task 9, continued
[image: image13.png]Jules bought 75 acres of land in July 2004 for £112,500. In February 2014, she sold 40 acres for £85,200
when the remaining 35 acres were valued at£70,350.

(c) Complete the following table for the disposal of this land.

Proceeds 85200

85200
Cost o x[ 1= 61620
85200] 4 [ 70350

Gain 23580






Task 10
[image: image14.png]Kyn bought 1,950 shares in Landle Ltd in May 2001 for £45,800. In September 2003, there was a 1 for 10
bonus issue. In February 2005, he sold 700 shares for £19,600. On 12 November 2013, he sold 800 shares
for £25,600. On 19 November 2013, he bought 400 shares for £12,000.

Clearly showing the balance of shares and their value to carry forward, calculate the gain made on the
sale of the shares for 2013114. All workings must be shown in your calculations.




[image: image15.png]Event] Shares
luay 2001 Purchase 1950 46,800
|september 2003 Bonus issue 195|
2145
[February 2005 Disposal (700)| (15.273)|
1,445 31,527
INoverner 2013 Disposal (400)| 8,727
1,045 22,800
IProceeds 25,600
|cost (12,000 +8727)| 20727

4873





Task 11
[image: image16.png]Alex bought a house on 1 March 2001 for £178,000 and sold the property on 31 October 2013 for

£312,000.

During the period of ownership the following occurred:

01.0301-31.1203

Alexlivedin the property

01.01.04-31.06.05

‘Alex moved in with his sick brother

01.07.05-30.06.07

Alexlivedin the property

01.07.07-31.12.10

Alex worked abroad

01.01.11-31.10.13

Alex ived n the property until he sold it

(a) Input the correct answers in the boxes provided to complete the sentences.
Where applicable round your answer to the nearest whole number.

“The total period of ownership of the house is 152]

‘The period of Alexs actual and deemed residence is

‘The chargeable gain on the sale ofthe house is £

months.

52] months





Task 11, continued

[image: image17.png]“The capital gains for three taxpayers for 2013/14 are shown in the table below, together with their capital
losses broughtforward from 2012/13. The gains are before deduction of the annual exempt amount

{b) Tick to show how much of each of the losses brought forward will be relieved in 2013/14.

Danny £43800 | £35900

Daniel £15800 | £3900

Danislle | £9.900 | £4400





Note: Under the costs workings on the second line, 


the answer 85200+70360 may also be written in as 70350 + 85200
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